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A-315(A)
B.A. Part-11I/B.A. Honours (Geography) Part-III
Examination, 2022
ECONOMICS
Paper - 11 Gr-(A)

(Statistics and Mathematics)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(@us—3) (3 : 2 x 10 = 20)
qe - o g9 T % SW SINT (SW-EE 50 IR) | T&E U 2 HF T
Section-B (Marks : 7 x 5 = 35)
Note .— Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.
(Tus-a) (3F® : 7 x 5 = 35)

e~ W U™ T % SW SINT TEE Y3 faeen w1 we #ifee (SWw-Em
200 ¥IsT) | TOF Y9 7 3TH H T

Section—C (Marks : 15 x 3 = 45)
Note .— Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.
(Tue-W) (3 : 15 x 3 = 45)
qe .~ = H F RE @ A % W SIS (SW-EE 500 1) | Y& WA 15 ST

E
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Section-A
(Tue-3)
1. (@) Differences between Primary and Secondary Data. (Any two)
et e fgdiass @He! & o (1 &)
(i)  Two Algebraic properties of the Arithmetic Mean.
THRR HIET & Gl SIS T

(ii1)) Give formula to calculate coefficient of Quartile Deviation.

wqdF faaes qUie T wE w1 A N
(iv)  Deflating of Index Numbers.
YRR HT STIERIN |
(v)  Multiple and Partial Correlation.
FEON qA SARH FE- T |
(vi)  Properties of Regression Coefficients.
T o e |
(vii) Define Interpolation.

ST hl GRS Shifg |

(viii) Methods to measure secular trend in Time Series.

FA St § geErHweE g ® \e & et
(ix) Give formula of Yule’s coefficient of Association.
I & "= O H A S|
(x)  Define Null Hypothesis.

Y e i qRwifia wifs)
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Section-B
(Tus-=)

2. From the following distribution of marks, obtained by 100 studends, locate the

median :
Marks No. of Students
0-10 8
10-20 30
20-30 40
3040 12
40-50 10

100 foenfeai & frefafea gt 4 wege A9 HifeT

0-10 8
10-20 30
20-30 40
3040 12
40-50 10

Or
(3=

The average weight of 150 students of a class is 80 kg. The mean weight of boys

is 85 kg and that of girls is 70 kg. Find the number of girls in the class.
TF wel & 150 foenfd=i =1 ofma wr 80 fh.am. §1 wenm # wehl #1 ia 9R 85
feam. © iR wsfEwal &1 70 TR ©1 wenm # wefedl = 9= TdEu|
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3. From the following data, calculate median coefficient of dispersion :

Size Frequency
4 2
6 4
8 5
10 3
12 2
14 1
16 4

i Tl | STARRLOT 1 HETeRT 1O eIy,

U3 argfta
4 2
6 4
8 S
10 3
12 2
14 1
16 4
Or
(32

Mean of 100 items is 50 and their standard deviation is 4. Find the sum of all

the items and also the sum of squares of items.
100 w1 =1 e 50 § IR SR E famer 4 ¥ 9l @ A iR ST At @ A
A i
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4. The value of Spearman’s rank correlation coefficient for a certain number of
pairs of observations was found to be 2/3. The sum of the squares of pairs of
differences between the corresponding ranks was 55. Find the number of pairs of
observations.

S TC-FH & fou RS & ®ife-o=R Te-TEr O H1 7E 2/3 o1 A SR
HiHE BIfC-3TR & T H1 WS 55 &, A TS-JH 1 T& AR

Or

(g
The following results have been obtained from the data of height (X) and weight
(Y) of 1,000 Cops of U.P. Police :
X =68",Y =1501bs, o, =2.5",0,=201bs,r=+0.60
From the above results estimate the height of that Cop whose weight is 200 1bs

and the weight of that Cop whose height is 5'.
W YL F gfed & 1,000 famfea =t @ (X) $iR 9R (Y) & sAfwet ¥ fr=1 ufom
o ¥

X =68",Y =1501bs, 0, =2.5", o, =201bs, r =+ 0.60

Suftferfen yeo aRomE ¥ 39 fauet &t o= &1 STAM ifsy St IR 200 s

3R 39 Ul @1 YR s wifse St o 5 %2 T

5. Interpolate the missing figure in the following series :
Year (X) : 1995 1996 1997 1998
Value (Y) : 30 ? 80 120

(aWa

=1 goft § 1@ Jog &1 STEUE ST

T (X) : 1995 1996 1997 1998
T (Y) 30 ? 80 120
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Or
(3=
Calculate trend values by the method of least squares from the data given below :
Year 1985 1986 1987 1988 1989

Sales of TV Sets (000) 12 18 20 23 27

A it Afa & g = sAfwSt w1 wEm G ¢ T Hed &I UM it
L] 1985 1986 1987 1988 1989

. At w faehr (000) 12 18 20 23 27

6. In an anti-malaria compaign in a certain area, quinine was administered to 812
persons out of a total population of 3,248. The number of malarial fever cases

1S shown below :

Treatment Fever No Fever
Quinine 20 792
No Quinine 220 2,216

Discuss the usefulness of quinine in checking malaria.

et & H Tk "o e S 3,248 i oTeet § W 812 ARl ® FAd

g TR | HAlE SR 9 Ueq sHferdl &1 faene e YR © e

STER FE@N gl FAN & gl
FoA A TS 20 792
HT T 220 2,216

TR R Tk | A T STANTA I THSET |
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Or

(3=
Solve by applying Cramer’s Rule :
2x + x, = 24
3%, —2x, = 8
HWR 1 0 ] FH T BN
2x, + x, = 24
3%, —2x, = 8
Section—-C
(TUs-—7)

7. From the following data determine the Mode :

Central Size Frequency
15 5
25 9
35 13
45 21
55 20
65 15
75 8
85 3
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7= 9roft 9 sgas I9 ®IY

THgA TR gt
15 5
25 9
35 13
45 21
55 20
65 15
75 8
85 3

8. Find the Bowley’s coefficient of skewness for the following data :

Income (More than) No. of
Per day (in ) Workers

40 186

50 167

60 132

70 84

80 38

920 12

BR-97(A&B)
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[aWa

=1 THe&T ¥ a3 *1 foIoHar e 9w

e s () sferent aY
@ 3tfaen) e
40 186
50 167
60 132
70 84
80 38
90 12

9. From the following data, calculate the coefficient of correlation between age of

students and their playing habit :

Age Group
15-16 16-17 17-18 18-19 19-20  20-21
(Years)
No. of Students 200 270 340 360 400 300

No. of Regular
150 162 170 180 180 120
Players

=1 Tt gr faenfoEi &) oy qen 9% Won & ARd & S He- ey IO I
HIVT

g ot
15-16 1617 17-18 18-19  19-20  20-21
(Ts)
ferenfstat =t "@e& 200 270 340 360 400 300
Fafta faenfsat
150 162 170 180 180 120
& e
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10. From the following data estimate the life expectancy at the age of 22 years :

Age (Years)

Life Expectancy (Years)

15

20

25

30

35

32.2

29.1

26.0

23.1

20.4

=1 TH® & MUR W 22 99 hl Y W SoA-JART AT Hifog

Y () Srem-geamem (arsl)
15 322
20 29.1
25 26.0
30 23.1
35 20.4

11. What is Chi-square Test ? What are the conditions for its application ? Name

three situations where this test is used.

a7 T A § 7 TS SIUAN F N IE § 2 U A ool w1 seong wifem,

el 39 ThE H S A S R

BR-97(A&B) (
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Time : 3 Hours |

A-315(B)
B.A. Part-11I/B.A. Honours (Geography) Part-III
Examination, 2022
ECONOMICS
Paper - 11 Gr-(B)

(History of Economic Thought)

Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(TUE-3) (3 : 2 x 10 = 20)
AT~ Wl T8 U % S S (SW-HE 50 1) | TOE 9T 2 3F H R
Section-B (Marks : 7 x 5 = 35)
Note .— Answer all five questions. Each question has internal choice (Answer limit

200 words). Each question carries 7 marks.

[ Maximum Marks : 100

(TUg-a) 3Tk : 7 x 5 = 35)
M~ W U™ U % S SINT) TEE Y3 famen w1 = #ifee (Sw-Em

200 ¥=5) | G&AF UIT 7 37F H B

Section—C (Marks : 15 x 3 = 45)
Note .— Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.
(Tus-7) (3% : 15 x 3 = 45)

e - U 9 R A awE @ S| SN (SW-E 500 Is) | 9w T9E 15 3T

=l
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Section-A
(TUs-3)

1. Attempt all zen questions. Answer should not exceed 50 words in each question.
Tt T YAl % S MU TOH U A W 50 VR § A TE aA =fen
(1)  Who is regarded as the Father of Economics ?

ALY FT SF RS FE A T ?
(i)  What is division of labour according to Adam Smith ?
TeH oY & oHER gq-faueH #n T ?
(ii1) What is ‘Economic Crisis’ ?
‘e Tehe' T T ?
(iv) What does Trusteeship mean ?
TR &1 = o § 2
(v)  What is the theory of Decentralization ?

[N [al

[Fh 1R I0T <l anS\I'CI EEl % ?

(vi)  Write the name of Adam Smith’s famous book.
Ten oY &1 gfag g&as &1 9m fafed |
(vii) What is Capital Accumulation ?
Il g = T ?
(viii) Who is the author of ‘Das Kapital’ ?
‘T Ffed’ & TEE B T
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(ix) ‘Say’s Law.
‘[ =

(x) What do you mean by Marginalism ?

HHee § A9 1 dedd © 2
Section-B
(@ue-a)

Note .— Attempt all questions. Answer should not exceed 200 words in each

question.

Tt g9l o S SN T&E Y9 1 St 200 visal 9 At e B wnfeu

2. Explain Ricardo’s contribution in ‘Theory of Rent’.

‘orm faga’ O el & 9rem St s s

Or
(3rram)

Discuss Adam Smith’s contribution on ‘Theory of Distribution’.

‘oo & fagra’ § tew fog & 9reE & == s

3. Explain drain theory given by Naoroji.

et g ez e free fagra T wifsu
Or
(3tram)
Explain main features of J.S. Mill’s economic ideas.

Swm. e & onfde faumi =1 wg@ fovarstt &t =men wifg)
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4. Explain economic ideas of Sismondi.
HrgHroel & offes foemi wt samen wis |
Or
(Irgam)
What were Gandhiji’s views on Swadeshi ?
e & TRl wadt foeR w4 2
5. Explain price determination according to Marshall.
TR % STHER ®iFa ek & wweE
Or
(g
Briefly describe Karl Marx’s doctrine of Surplus Value.
et T @ e o B fame #1 S e Hiti
6. Write note on Malthusian theory of Over-production.
Aeed & SAfd-sared g W fewit wifsw )
Or
(Irgam)
Explain economic ideas of Friedrich List.
Hhela foe & onfdw fa=ari =1 =men i)
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Section—-C
(@ues-—|)

Note .—  Attempt any three questions out of five. Answer should not exceed 500 words

in each question.
g # 9 fR= 1 o & Sw AT T 9vT w1 I 500 v 9 Sifie el
B =fe |
7.  Critically examine the basic theories of Physiocracy.
YpfaeTe & TgE faSI=il &1 STeeHEEs TeTu it |
8. Evaluate Adam Smith’s contribution to economic thoughts.
s faami & &9 # teH fmy & IFeH &1 Jeaisd Hifau |
9. Describe critically the Malthusian theory of Population.
Aeo™ & SHEEA HE ®1 STarecis: a9 it |
10. Describe the economic ideas of Dr. B.R. Ambedkar.
Tl L3R, TR & oAfdw fa=mi &1 au wife |

11. What was the economic perspective of Mahatma Gandhi ? Write the relevance

of Gandhi’s economic ideas in present scenario.
e Tt w1 onfds gftew F o ? adum uRgya ® TR & sntew fowwi i
yrefireRar fafen |
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